gbobogobz2o0000000

V60c OoobobuU”"Hroboooboooobooobobooobooboon
oc000000000O000O0O0OOO0OOOOOOOOO

ooooooOo0oooboooooOoboboOoOoOooOo vUgrOOOODOODODO 120°0D000000000DOO
gooooooooooobogoooogoooooooooobooboo bbb obobobuobobob
gboooobooooanbog

goobooboooboboobobooobooobooobbooboboooboobDbooobbooobboon
O000004000 UHFOOODOOO (ODOOOO 327MHzOOOOO 10MHz) OOOOOOOOOOO20080
OO000Oo00oOoOoOoOoooosSwIFIOoooooOOoOooOooooooooooOooooOoooboOoooooo
gboboo30bobooboooobooooooooooboobobobobo20900b00b0ob0obOobob
gbooboboobooboobbooboobboobooobooo

goboooobo i400b0000DO00O0O920000000000DOODOOODOOODOOO 120°
gbobodboboobobooobooobobooobobooboboobboobooboooobooobo 200000
gboboboboobooooobooboboboooobobobobobooobobobobobbooboD
gbobodboboobobooboboooboooboboobooboobboobboobboobobooooobooo
1/10000 (RL=20dBO0)0000000000O00OO000O0OO0DOOOOOOODOOOOOOOODO

oooooobO1120°c00000000DOO0O0DOO0ODOODOOOUOOOOODOOOOOODOODOO
00000000000 000ODO000bOSWROOOOODOODOOODODOOOOODODOOoOoOoooDooOoooo
gbobooooboboobooboboobobobobobooboboboobobobobobooboo
000000000 0DOD0O000O00DODO QUDOOO0ODOO0O0O0 327TMHzO R.L=23dBO0O0OOODO



